PNOND DR R

o

Revision
04/25/22

Y /gt

ENGINEERING

&r

Weber Billet Air Cleaner Assembly - Part #1034033

Kit Contents

Air Cleaner Bottom 1 AirCleaner Top

Nylon Pipe Plug 1 Nylon Hose Barb

M5 x 25mm Allen Bolt 4 M5 Lock Washer

M6 x 25mm Allen Bolt 4 M6 Lock Washer

M6 Steel Flat Washer 2 M6 Nylon Flat Washer
M6 x 75mm Stud 2 M6 Nylock Nut

K & N Air Filter

Installation Instructions

Some carburetors use a stud to hold the stock air filter on and some use bolts. If your
carburetor uses studs then you will need to remove them.

If you are going to run the stock breather tube from the air filter to the front of the
valve cover then you will need to install the supplied 90 degree hose barb in the
bottom air cleaner plate. If you are going to eliminate the front breather tube then
you need to install the supplied plug into the bottom air cleaner plate.

a. LC Engineering recommends installing a breather filter onto the front of the
valve cover if you are going to eliminate the breather tube.

LC Engineering supplies M5 bolts and M6 bolts. Determine what size threads are in
your carburetor and use to proper size allen bolts and lock washers to install the
bottom air cleaner plate to the carburetor.

a. Invery dusty areas LC Engineering recommends using a small amount of
grease between carburetor and air cleaner bottom plate.

Install supplied studs into bottom plate.

a. The shorter threaded section of the stud goes into the bottom plate. The
longer threaded portion of the stud goes through the top plate.

b. Use athread locker such as Loctite on the studs where they go into the bottom
plate. The studs do not need to be very tight, just a “snug” fit with Loctite
will hold them in place.

Install new K & N air filter.
Install air cleaner top. Use supplied nylon washer, steel washer and nylock nut to
fasten air cleaner assembly together.

a. Put nylon washer between air cleaner top and steel washer to protect it from
damage.

Regularly service K & N filter following K & N instructions.

Call our Tech Line if you have any questions on installation. 928-505-2501

2031 Holly Avenue, Lake Havasu City, AZ 86404
Office 928.505.2501 Fax 928.505.2503



	Weber Billet Air Cleaner Assembly - Part #1034033



